Algebra G

Unit 7 Keﬂ

Notes

Unit 7:
MuHtiplying Polynomials

Remember...7?
x+x= I\
x+x2= XtW*
3x+2x = HY

Distribute;
a) 4(x +5)
Ax+120

o) 3kpk+2x+5)
2%%+ x>+ 1Bx

What happens now?

XeX = xz
XoX? = X2

3Xe2X = U)\Z

-
b) -6x(7 —x)
~4L% + bx?

a) 2Kk -2x-4)
—2x% + 4P+ Fx

_ (X+4!)(X! +x5)
Dy +4x +20

X“t+
N

X" A% + 20

Try it on your own! Multiply the binomials!

a) (x=7)(x+3)
X2—Ix +3x -Ql

X7k -2)

B) (~y-1){y+2)

Y-y -9y -S
— Y52



Try some more/

a) (3x+ 1)(6x—5) b) (x-7)2
13X 5% +Ho¥—5 (x-7Yx-1
(3xE k-5 X?=1ax+41
c) (y—-4)y+4)
Y +dy—ty-lv
tj" —lb
d) X2 Find the area of the rectangle.
e (3x+2)2x-1)
(X% 2x +4x-2
X E+I%-2
What do we do how?!?!?
1) (2x+D(3X +2x+1) 2) (3x—=2)(6x" ~3x—4)
X2+ 4%+ 2%+ 324 2%+ | ' 5% —9% 212 ~lox® +bx +38
(OX2+ TP+ 4 +) \Bx3- 1952 —x +2
' 1 2 2
3.) (X+4)(-2x*+x-3) g) (X°-2)(2x"-4x-2)
q-
‘Jxa*xz—-’bx ""gxa'-{—-l—})("z 47( —’L")(g-'Z)('_LI»XZ_l,_ 3X+L}

B x— b Uty xP-g X+



